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Would you dislike your friend? (3
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friend.
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Would you break the friendship with
your  friends? Using chemical
fertilisers, the application of chemical
fertilizers can increase the crop yields
quickly, but they gradually damage
the soil, like cause soil hardening and
decrease soil organic matter and pH
after a long period of application,
resulting in killing the earthworms,
loss of soil productivity. Few
decades back farmers started to face
challenge in their farming, instead of
using the natural resources prudently,
do crop rotation, increase soil nutrient
through natural way, chemical
fertilizers were used for more yield.
Yes, initially the chemical fertilizers
gave good vyield, gradually chemical
fertilisers destroyed the earthworms
and all the nutrients in the soil and
the farmers not only suffered loss on
productivity but also lost the natural
resources of the soil. Please do not
use chemical fertilisers. Participate in
TIST training programs and learn to
improve your soil quality and enjoy
good yield.
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What istree stipend?

You all know that planting trees gives various
benefits, it also reducescarbon dioxide from the
atmosphere The leaveswork as kitchen for the
tree to cookenergyrich organiccompoundsfor the
tree to grow, this cooking processis known as
photosynthesisDuringphotosynthesislight energy
is captured and used to convert water, carbon
dioxide, and mineralsinto oxygenand energyrich
organiccompounds Treesconsumecarbondioxide
and turn it into cellulose¢ woody biomass The
amount of wood is directly correlated to the
amount of carbon dioxide absorbed To make it
soundsimplerto understand- trees are about 50%
water and 50% wood. Sincewood is about 50%
carbon,eachtonne of live tree masscontainsabout
a quarter tonne of carbon Themore a tree grows
the more amount of carbon is stored in the tree
whichis calledthe carboncreditin carbonmarket

As the trees grow, TISTmeasuresthe size of the
tree and using approved methods calculatesthe
amount of woody biomass,and then calculateshe
amount of carbon dioxide absorbed All these
proceduresare standard and approved methods
TISTcomputesthe carbonin each tree grove on
eachfarmerQland, then aggregateghe tonnes In
addition, the third-party validation and verification
processreviews and verifies the calculation and
measurementsdone by TISTand finally TISTgets
the approvedcarbon credits which can be sold to
entities that wishto offset its businesseemission

TISTin India is subsidisedcompany of Clean Air
ActionCorporation(CAAChasedat USAand due to
the agreementbetweenTISTIndiaand CAAGiIl the
approvedcreditsthat comesof TISTIndia projectis
owned by CAAC CAACmarketsthe credits, sells
and paysto TISTIndia TISTIndia usesthis amount
to paythe smallgroupsastree stipendfor all their
live trees We are requesting all small group
participants to understand this process, as and
when CAA(aysto TISTIndia, TISTIndiawould use
the moneyreceivedfrom CAAQo paytree stipend
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